

#### PROGRAM PROPOSAL

#### I. IDENTIFYING INFORMATION

a. Name of Proposal: **BPED THE FIRST ONE, AID FIRST, FIRST AID** 

b. Date of Training: JULY 12, 2023

c. Time: 9am-12nn

d. Venue: Dolores Conference Room,

Brgy. Dolores, Mabalacat City

e. Target Participants: Community of Dolores - Youth

f. Training Cost: P 6,000.00

g. Source of Funds: BPED 2A AND 2B

Theme: "Transforming the knowledge in first aid for the remarkable future".

#### II. Rationale:

First aid is essential in ensuring that a proper initial care will be provided during a medical emergency. However, poor communities have insufficient knowledge and access to the first aid necessities. If this will be continuously neglected, it can result to lower rate of survival, particularly within the community, due to absence of first aid during an emergency.

As a solution to this, we will conduct a two-hour training and awareness workshop, aiming to provide students the proper knowledge and skills necessary in performing first aid. This training will strengthen the participants' core values, encouraging them to willingly help those who are in need, spread awareness and knowledge to further encourage other people, particularly the youth, to learn the methods of first aid.

A two-hour training strengthens participants' core values and equips them with the skills to conduct medical first aid.

# III. Objectives:

The seminar and demonstration will:

- 1. Strengthen the involvement of student knowledge in providing responsive first aid and CPR.
- 2. Empower students to participate in medical programs, projects, and activities leading to providing first aid and CPR.
- 3. To provide students withrelevant tools to help them conduct a first aid and CPR







#### **IV.** Learning Outcomes:

At the end of the seminar and demonstration, the participants should be able to:

- 1. Be equipped with knowledge and skills inthe conduct of First Aid
- 2. Develop personal and group motivation to passionately participate in any medical emergency in a community;
- 3. Recognize the importance of being equipped with the skills and knowledge to do community first aid.

## V. Training Participants:

Name of Participants	Number of Participants
COMMUNITY OF DOLORES - Youth	30
Total	30

## VI. Topic:

Topics		Resource Speaker
I.	Wound Care	BPED 2B
II.	CPR/AED & Choking (adults, children and infants)	BPED 2A
III.	Burn and Scalds treatment	BPED 2A

## VII. Program Design:

Time	Details	Resource Speaker/Person In- Charge/Facilitator		
9-00am-9:30am	Opening Remarks	Ma'am Carol Arboleda		
9:30am-9:45am	Inspirational Message	Hon. Jerry Tanglao		
9:45am-10:00am	Introduction of first aid	BPED 2A and B Mayor		
10:00am-11:00am	Seminar and Demonstration for first aid BPED 2A and B			
11:00am-11:10am	Closing Remarks	Sir. Celter Cris Torress		
EMCEE – NARCISO, JIMMY JOHN				





# VIII. Budgetary Requirements:

Particulars	Quantity	<b>Unit Cost</b>	Amount
First aid kits:			
Alcohol	30	75.00	2,250.00
Betadine	30	50.00	1,500.00
Cottons	30	15.00	450.00
Band aid	30	25.00	750.00
First aid pouch	30	35.00	1,050.00
Total			P 6,000.00

IX. Source of Funds:

BPED 2A AND 2B - **P 6,000.00** 

Prepared by:

NARCISO, JIMMY JOHN N.

BPED 2B MAYOR

Reviewed by:

CELTER CRIS P. TORRES, LPT

Instructor/Program head in charge, BPED, and BSEd Social Studies

Noted by:

ELDY OWE'S T.' LAYNO, LPT, MAEd

Program head in-charge, BTVTED, and BSED Science

Recommending Approval:

07-10-2023

CAROAR. ARBOLEDA, LPT, MAEd

Kayantabe Manager

Approved By:

**DR. ROMEO D. ERESE III**OIC Dean ITE/AVPAA





# COMITEE/STUDENTS PARTICIPANTS

BPED 2A	BPED 2B	
Abadies, Trisha Mae P.	Buenafe, Cristalane S.	
Abao,RegimierJicelJ.	Canlas MharcStefhen B.	
Alimurong,KclynM.	Dandoy, Mark Paul H.	
Angeles,PauloP.	Labarete, Christian V.	
Botabara,RonalynP.	Lee, John Christian D.	
Briones, AldrineM.	Lim, Jeanialou R.	
Calara, Angelica D.	Lising, Justine L.	
Candelaria, Micaela E.	Macapagal, Noella Mae L.	
Carbungco,RoxanneC.	Malig, Erika Rose N.	
Cayanong,LyAnnUldred G.	Manarang, Shanen S.	
Cordiz,KhennethJohnB.	Marquez, John Rey D.	
David,KristhanP.	Monzon, Czer Rafael D.	
DelRosario, Aubrey W.	Napigkit, Allyssa Claire G.	
Dimarucut,JennyH.	Narciso, Jimmy John N.	
Dizon, Christian John D.	Nuñez, Rica Mae	
Dizon,GeronG.	Pellen, Julius Kent	
Entoma, Jenalyn	Perico, Jomari M.	
Garcia, Ann Monica R.	Quito, King Ezekiel Marron	
Garcia,GeorgeLycenR.	Rodriguez, Irish S.	
Gomez, Angelo G.	Sagun, Edrian R.	
Gomez,EllaenaA.	Sicat, Jezreel Clarence M.	
Lago,FreshnessDawnC.	Sioco, Jhenlin M.	
Malig,VrixDarrelS.	Soriaga, Joshua G.	
Nepomuceno,LowelaA.	Valiente, Danice Mary Joie M.	
Padullo,KeinAncelD.	Vargas, Gabriel G.	
Sison,JemmalynA.	Vidal, Ivan Viktor G.	
	Wage, Goldilyn Q.	

